
k|ltlglw;ef lgjf{rg– @)$* 

g]skf -Pdfn]_sf tkm{af6 lgjf{lrt ;b:ox? 

 

l;=g+= gfd y/ lhNnf If]=g= 

१ df= cd[ts'df/ af]x/f l;Gw'kfNrf]s ! 

२ df= clDasf ;fFjf tfKn]h'ª @ 

३ df= czf]s s'df/ /fO{ vf]6fª # 

४ df= OG›axfb'/ v8sf bf]nvf ! 

५ df= cf]dljsf; uf}rg d':tfª ! 

६ df= ls/0f u'?ª tgxF' # 

७ df= s'nk|;fb pk|]tL tfKn]h'ª ! 

८ df= s'nk|;fb zdf{ -km'ofn_ vf]6fª @ 

९ df= s[i0fuf]kfn >]i7 -pklgjf{rg_ sf7df8f}+  % 

१० df= s[i0fk|;fb bxfn dsjfgk'/ ! 

११ df= s[i0fk|;fb e§/fO{ kj{t ! 

१२ df= s[i0faxfb'/ zfxL hfh/sf]6 @ 

१३ df= s[i0f/fh >]i7 l;Gw'kfNrf]s @ 

१४ df= s]=kL= zdf{ cf]nL emfkf ^ 

१५ df= s]zjk|;fb a8fn sfe]|knf~rf]s # 

१६ df= vu/fh zdf{ alb{of @ 

१७ df= u+ufnfn t'nfw/ wflbª @ 

१८ df= u0f]z kl08t g'jfsf]6 @ 

१९ df= uf]kfn u'/fufO{ wgs'6f @ 

२० df= uf]ljGbgfy pk]|tL sfe]|knf~rf]s $ 

२१ df= uf]ljGb/fh 1jfnL alb{of # 

२२ df= rG›k|sfz d}gfnL emfkf % 

२३ df= rG›k|sfz jflgof d':tfª @ 

२४ df= hfu[tk|;fb e]6jfn lrtjg ! 

२५ df= hLtaL/ tfdfª nfdf bf]nvf @ 

२६ df= emngfy vgfn O{nfd ! 

२७ df= 6+s /fO{ vf]6fª ! 

२८ df= 8Dj/l;+x ;DjfxfDkm] kfFry/ @ 

२९ df= t'naxfb'/ u'?ª sf:sL @ 



l;=g+= gfd y/ lhNnf If]=g= 

३० df=  yddfof yfkf  DofUbL ! 

३१ df= b]jLk|;fb cf]emf emfkf @ 

३२ df= ›f]0fk|;fb cfrfo{ emfkf ! 

३३ df= wgxs{ /fO{ ef]hk'/ # 

३४ df= wg]G› a:g]t ;+v'jf;ef @ 

३५ df= g/]G› a:g]t ef]hk'/ ! 

३६ df= gf/fo0f /fha+zL emfkf $ 

३७ df= kß/Tg t'nfw/ sf7df08f} # 

३८ df= k/z'/fd d]3L u'?Ë ;+v'jf;ef ! 

३९ df= a;Gts'df/ g]Djfª kfFry/ ! 

४० df= e/tdf]xg clwsf/L df]/ª @ 

४१ df= dlemnfn yf? yg]t gjnk/f; @ 

४२ df= dl0fs'df/ lnDa' O{nfd @ 

४३ df= dbg 9'Ë]n l;Gw'nL ! 

४४ df= dbgs'df/ e08f/L sf7df8f} ! 

४५ df= dbgs'df/ e08f/L sf7df8f} % 

४६ df= dgdf]xg clwsf/L ;'g;/L ! 

४७ df= ld7f/fd zdf{ ahufO{ nlntk'/ ! 

४८ df= d's'Gb Gof}kfg] af/f ! 

४९ df= /sd r]ghf]ª wgs'6f ! 

५० df= /fh]G›k|;fb kf08] wflbª # 

५१ df= /fwfs[i0f d}gfnL emfkf # 

५२ df= nIdLgf/fo0f rf}w/L pbok'/ ! 

५३ df= nfnafa' kl08t df]/ª # 

५४ df= j+lzw/ ld> /f}tx6 $ 

५५ df= jfdb]j uf}td alb{of  ! 

५६ df= ljho ;'Aaf t]x|y'd ! 

५७ df=  ljBfb]jL e08f/L -pklgjf{rg_ sf7df08f}+ +! 

५८ df= lj/f]w vltj8f dsjfgk'/ @ 

५९ df= lji0f'axfb'/ /fpt pbok'/ @ 

६० df= lzjaxfb'/ b]phf sfe]|knf~rf]s @ 

६१ df= lzj/fh uf}td bfª @ 

६२ df= ;lndldofF cG;f/L af/f $ 



l;=g+= gfd y/ lhNnf If]=g= 

६३ df=  ;fxgf k|wfg sf7df8f}+ $ 

६४ df= l;l4nfn l;+x nlntk'/ @ 

६५ df= ;"o{k|;fb sGbËjf t]x|y'd @ 

६६ df= ;f]dgfy clwsf/L -Kof;L_ sf:sL # 

६७ df= ;f]xgk|;fb rf}w/L af/f @ 

६८ df= xs{dfg tfdfª df]/ª $ 

६९ df= lx/0onfn >]i7 dsjfgk'/ # 

७० df= lx/fnfn rf}w/L ;Kt/L ! 

७१ df= x]d/fh /fO{ ef]hk'/ @ 

 


